
SUMMARY OF EVIDENCE
in the case of

B116423, Private Donald St Clair ANDERSON, 
No. 1 Canadian General Reinforcement Unit, a 
soldier of the Canadian Array Overseas.

THE COMMANDING OFFICER DIRECTS THAT THE EVIDENCE 
BE TAKEN ON OATH.

Captain W. H. Rose, RCAMC, No. 1 Canadian 
General Reinforcement Unit, having been duly 
sworn statess-

FIRST WITNESS 
FOR THE 
PROSECUTION

I am Captain W. H. Rose, RCAMC, Medical Officer 
No. 1 Canadian General Reinforcement Unit. On the 
5th October 1944 the accused, whom I recognize, 
appeared before me during medical inspection of an 
incoming draft. According to his immunization 
record contained in his MBM 1, Part 1, he required 
further Inoculations. These he refused to accept 
having no reason except that he did not wish to take 
them and that he did not think he needed them. I 
explained to him that there was a routine Omer No. 
1809 which ordered that all personnel receive these 
inoculations. I further explained that he could be 
charged for refusing these inoculations and gave him 
further opportunity to comply with these orders. He 
stillze fused and I informed him that he was unaer 

arrest and that he will be charged accordingly.open
The accused declined to cross examine the witness.

...... ........................ captain,
No. 1 Canadian General Reinforcement Unit

B49402 Sergeant Sanderson, C.K., RCAMC, No. 1 
Canadian General Reinforcement Unit having been duly 
sworn states:-

SECOND WITNESS 
FOR THE 
PROSECUTION

RCAMC?I am B49402 Sergeant Sanderson, C.K.,
No, 1 Canadian General Reinforcement Unit, and I am 
employed at the First Aid Post. On the 6th of 
October 1944, I was present when an order was given 
by Captain Rose, Medical Officer, to Private 
Anderson to submit to inoculation and which he 
refused to do.
The accused declined to cross examine the witness.

... .<?* .it",.Sergeant , 
No. 1 Canadian General Reinforcement Unit

QUESTION TO THE ACCUSED
“Do you wish to make any statement or give 

evidence on oath? You are not obliged to say anything or 
give Wi
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